Level 3 Table Data Problems
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Scatter Plots
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Key Features of Graphs
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Linear vs Exponential
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Fuel economy (in mpg)

Weight vs. Fuel Economy
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The weight and fuel economy for various vehicles were measured and
recorded in the scatterplot to the left. Given that w represents the weight
of the vehicle, in thousands of pounds (Ibs), and f represents the fuel
economy, in miles per gallon (mpg), which of the following equations
best models the relationship between f and w?

@ f=50-0.1w
f=50-98w
@ f=657—01w
@ f=657—98w
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Temperature (in degrees Celsius)

Cooling Coffee
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The scatterplot to the left shows the temperatures, Y, in degrees Celsius
(C°). of a cup of coffee cooling in a 22°C room at 5 minute intervals. If =
represents the fime, in mintes, since the coffee had a temperature of
92°C, which of the following could be used to predict the temperature of
the coffee for 0 < z < 607

@ y=92-995z
y=92-922
@ y = 92(0.925)

@ y = 70(0.925)" + 22
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Salary (in millions of dollars)

Average 2014 MLB Salary by Age
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Question 3 of 5 ® Video @ Hint () Report

The scatterplot to the left shows average 2014 Major League Baseball
(MLB) salaries, y, in millons of dollars, for players & years of age. Which
of the following quadratic equations best models the relationship
between a MLB player's age and his salary?

@ y=0.1(z —23.1)2 +0.78
y=0.1(z+23.1)2+0.78
@ y=2(z—23.1)2+0.78

@ y=2(z+23.1)2+0.78
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Question 10f 5 ® Video @ Hint (@) Report

The graph atleft in the RI-plane shows the current, . in amperes for a
circuit vith a resistor having R ohms of resistance. Whatis the
significance of the value T = 4 shown by the dotted line?

@ The current for a resistor with 0 ohms of resistance is 4
amperes,

The current reaches a minimum when the resistor has a
resistance of 4 ohms.

As the current becomes large, the resistance becomes
approximately 4 ohms,

As the resistance becomes large, the current becomes
approximately 4 amperes.
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Laxman recently started a restaurant 32 weeks ago. The table above shows the number of
customers, C, during the w'h week. Which of the following correctly explains the growth of C
with respect to w?

() T mmberofcstomerspr vk rw n e e uber of o
per week increased by approximately 30 every week.

The number of customers per week grew linearly because the number of customers
per weekincreased by approximately 100 percent every week

The number of customers per week grew exponentially because the number of
customers per week increased by approximately 30 every week

The number of customers per week grew exponentially because the number of
customers per week increased by approximately 100 percent every week
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12 grams (g) of a chemical are added to a metal. The amount A, in grams, of the chemical
remaining during a reaction with a metal plate decreases by 0.5 g per second. If instead the
plate were dissolved, the amount A, in grams, of chemical remaining would decrease by half of
itself every 4 seconds. How many grams greater is A than A after 12 seconds?
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An old computer program which computes the ‘¥ Fibonacci number takes 0.05 microseconds
(1) to compute the 15 number. After this, each number takes twice as long as the previous
number to compute. A computer engineer designs a new program which takes 0.8 s to
compute the 1% Fibonacci number. Afer this, each number takes 0.6 s longer than the
previous number to compue. How much longer in mictoseconds oes i take the old program to
compute the 8% Fibonacci number compared to the new program?
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s =320+ 115¢

‘The equation above approximates the relationship wildlife veterinarians found between the

omountof oo s homone). g pr e ( 6 )1 o st

ot et .t st .ot et . Wi o stemers

best cescribes the relationship between the amount of cortsol i seals tears and serum?
@ Itis linear because there is an 11.5 % increase in § for every o.1§ increase in'.

Itis linear because there is a 32 % increase in  for every 0.1% increase in't.

t.

Itis exponential because there is a 220% increase in 8 for every 0.01% increase

@ Itis exponential because there is a 15% increase in s for every 0.01% increase in

int.
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United States (U.S) Social Media Usage over Time by Age Group

Percentage of
internet users

aged 18-29 that
use social media

9%

50%
70%
79%
86%
85%
92%
90%

Percentage of
internet users

aged 30-49 that
use social media

%

8%

30%
48%
62%
67%
73%
8%

Percentage of
internet users

aged 50-64 that
use social media

6%

4%

1%
28%
4%
49%
57%
65%

Percentage of
internet users
aged 65 + that
use social media

0%
1%
%
13%
26%
30%
36%
46%

The table above shows the resuits of an observational study designed to observe the social
mecia habits of different age groups of internet users in the U.S. between 2005 and 2013.

Based on the results of this study, which of the following conclusions are valid?

T:1n each year of the study, UsS. internet users aged 18-20 were more likely to use social media
than any other age group in the study.

IL: Over the course of the study, here was growth in the percentage of US.internet users that

use social media across all of the age groups observed.

IT: The rate of social mecia use by LS. internet users willcontinue to fse in the future.

IV : Social media was more likely to be used by a USS. interet user aged 30-49 in 2013 than it
was by a US. interet user aged 30-49 in 2005.
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Red Blue Total
Triangles 1 3 4
Quadilaterals 2 6 8
Pentagons 5 7 12
Total 8 16 2

Geometry students participated in an activity to classify the shapes in the room by number of
sides and color. The table above displays the results. f a triangle is chosen at random from this
activity, what s the probability that it is blue?
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Chapter
Chapter 1
Chapter 2
Chapter 3
Chapter 4

Total

Skills problems
11

10

6

23

50

Analysis problems
12

11

12

4

39

Total
23
21
18
27
89

A science textbook has four chapters, each with a number of skills
problems and analysis problems. A table representing this information
is on the left. Based on the table, which of the following statements is

true?

®

® O

‘The relative frequency of analysis problems coming from

hapter 4is —
chapter 415 35

‘The relative frequency of analysis problems coming from

hapter 2is —
chapter 215 25

The relative frequency of problems in chapter 1 being
12

skills problems is =

23

The relative frequency of problems in chapter 2 being
2

skils problems is 3
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Population of country in
North America
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Students in a college geography class created a table in which the
countries of North America are displayed by both population and
population density (per square kilometer). How many countries have a
population density of fewer than 100 per km? and have a medium
population ifthe relative frequency of these two features occurring
compared with all countries in North America is 0. 174
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On time Late Total

Route A 5 6 11
Route B 2 10 12
Route C 6 11 17
Total 13 27 40

Victor decides to try three different routes to wiork for a period of 40 days. In the table above, he
tracked whether he arrived to work late or on time each time that he used a particular route.
According to the table, what i the probabilty that Victor will arive late if e uses Route A?
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Telecommuting in the US job market
Sales  Computer Programming  Other Total

100% Remote 185 247 179 611

100% On-Site 1918 1837 1364 5119
Partially Remote  (>20% remote) 1012 743 930 2685
Total 3115 2827 2473 8415

A survey conducted on a random sample reports findings on telecommuting in non-academic
jobs in the United States, with a focus on sales and computer programming. According to the.
table above, what is the probability that a randomly chosen job from the study is a partially
remote sales job? Round to the nearest hundredth.




